9ol ¥ S50 54 B deud TR RS e
AT YUt AR Mo Be shYEe] 74 B mZade

2AYU7A?




ohS =5 Qhof] dHre 25 S AUR HE oA Q.
o 2t B EA | &% 24
15609 919 & 0
109] 2501 diar ool &k | (2)
5ol tigh 4 9] 19| 2k (3)
» =
» &
» &
> ®eh: 0.25
2
pol= =z
D oH 5
> =g 08
SISk B uA | 2% 54
15: 60 o] 7t ;11 0.25
10 9] 25 ] Tt o] 2t é 0.4
Kol gt 4 <] v 2 ‘—: 0.8




B G Afe] Rz 1em? Bt @ o, oh QAR P Bale
SEREEY

D)45cm? @ 48cm? ® 52cm?

(5x3)x3=45(7H)
1 x 45 = 45(cm3)
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= (20X 16 x4) - (Tx6x4)
= 1280 — 168 = 1112(cm?)
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g B A2 9] doj7t 5em?l FHHA L] BEo] 5 5x5x6 =
150( cm?)

g mAE| o] doj7F10em?] FSHA ] FWol - 10x10x6 =
600( cm?)

wabA 600 + 150 = 4(Hl) 2 Solgdyth.




